### Canterbury College, Waterford, QLD

182 Old Logan Village Rd, Waterford, 4133

2022 Requirements List for Prep Your Access Key: 2YU3T



### Please order online at wincschools.com.au

At Winc we want your child to have a strong start to the new school year, which is why we have worked with your school to make Back to School hassle free.

### Ordering made simple.

We've made it quick and easy to order your child's new year requirements. Simply visit **wincschools.com.au** and follow these four steps.

- 1. Search for your school, Canterbury College, Waterford, QLD and enter your school access key 2YU3T if required.
- 2. Complete the student's details and select Prep.
  - Simply select all relevant subjects.
- Review your requirements list and make changes if required.
  Please note: some list items have been denoted by your school as a prerequisite for the subject or year.
- 4. Proceed to checkout.

Please note: For home deliveries only, if you have more than one student at the same school, please repeat the above steps.

Once completed, an order confirmation will be sent to your email address.

Please note: Any technology items you order may be sent separately.

#### Deadlines and delivery information.

#### Home delivery:

**Delivery Fees:** 

Free Delivery: for orders placed on or before 8th December 2021; \$12.95 delivery: for orders placed after 8th December 2021.

Orders Placed:

On or before 31st December 2021 will be delivered before the start of Term 1 2022.

Please Note: For orders placed after 31st December 2021, we cannot guarantee delivery prior to Term 1.

#### **Australia Post**

Orders are delivered via Australia Post's eParcel service. As soon as your order is dispatched an email will be sent to let you know the Australia Post tracking ID Number. Your order can be tracked at auspost.com.au.

Note: PO Box addresses are not accepted by Australia Post.

#### Payment methods accepted









#### Back to School that gives back.

Every time you buy textbooks or stationery from Winc, we give a portion of your spend back to your School. A few small exclusions apply, which you can find out about at wincschools.com.au/givesback



# Canterbury College, Waterford, QLD 182 Old Logan Village Rd, Waterford, 4133

2022 Requirements List for Prep Your Access Key: 2YU3T



### Have a question?

For assistance with your order, returns and refunds and delivery information, or for a general enquiry, please visit wincschools.com.au/helpcentre

To view our full terms and conditions, please visit wincschools.com.au/termsandconditions.

# Canterbury College, Waterford, QLD 182 Old Logan Village Rd, Waterford, 4133

# 2022 Requirements List for Prep Your Access Key: 2YU3T



CODE	DESCRIPTION	QTY	PRICE	TOTAL
2022 Requirement	ts			
you will be sundry billed for	RED TO HAVE THE FOLLOWING ITEM:- Resilience Project Student Journ this item) Other items available at the College Uniform Shop: 1 x Cantox Canterbury College Art Smock,			
Recommended Ite	ems			
	Please select either Right or Left handed scissors.	1	\$1.32	\$1.32
25090626	Officemax Blunt End Scissors Right Handed 130mm Red (Variants available)		\$1.32	
25097531	Officemax Blunt End Scissors Left Handed 130mm Green (Variants available)		\$1.32	
18955697	Pascal Press Targeting Handwriting QLD Student Book Prep Jane and Young Pinsker	1	\$16.95	\$16.95
18967205	Thrass T-103 Picturechart Desk Size	1	\$9.96	\$9.96
25090968	Winc Handy Pouch Plastic Pencil Case Mesh Zip 345 x 240 mm A4 Clear	1	\$3.30	\$3.30
85410900	Winc Facial Tissue 2 Ply Box 100	2	\$1.54	\$3.08
25090925	Winc Scrapbook 335x245mm 56gsm Plain 64 Pages	9	\$1.52	\$13.68
25121661	Faber-Castell Magnetic Whiteboard With 2-in-1 Marker	1	\$10.46	\$10.46
20000718	Crayola Chalkboard/Whiteboard Duster	1	\$3.85	\$3.85
25095981	Faber-castell Grip 2001 2b Graphite Pencil	12	\$0.99	\$11.88
25133140	Micador Coloured Pencils Pack Of 12	2	\$2.61	\$5.22
25090629	Winc Twistable Crayons Assorted Colours Pack Of 12	2	\$3.97	\$7.94
53001002	Winc Whiteboard Marker Bullet Tip 1.5-3.0mm Black	10	\$0.66	\$6.60
87142915	Winc Glue Stick 40g	8	\$1.76	\$14.08
25131927	Writer Premium Storybook 330x245mm Top 1/2 Plain Bottom 1/2 24mm Ruled 100GSM 64 Pages	1	\$2.40	\$2.40
25175011	Olympic T186i Botany Book A4 64 Pages 18mm	1	\$1.40	\$1.40
25093148	Winc Display Book Refillable A4 40 Pocket - Blue	1	\$4.92	\$4.92
25093144	Winc Display Book Non-Refillable Insert Cover A4 40 Pocket - Green	1	\$4.84	\$4.84
86842362	Crayola Supertip Coloured Markers Pack 10	2	\$6.04	\$12.08
25097587	Winc Premium Coloured Copy Paper A4 80gsm 20 Assorted Colours Ream 500	1	\$10.95	\$10.95
25093631	Winc Premium Coloured Cover Paper A4 160gsm 10 Assorted Colours Pack 250	1	\$10.95	\$10.95
86700023	Olympic Exercise Book 225X175 18mm Dotted Thirds 64 Page	2	\$1.18	\$2.36
25086865	Officemax Transparent Clipboard A4 Clear	1	\$3.63	\$3.63
86663483	Sharpie Super Permanent Marker Bullet 1.5mm Black	4	\$3.30	\$13.20
86695456	Bostik Blu Tack Reusable Adhesive 75g	1	\$3.36	\$3.36
25091204	Officemax Masking Tape 48mmx50m	1	\$5.71	\$5.71
86762449	Winc Office Tape 24mm x 66m Crystal Clear Roll	1	\$2.20	\$2.20
25093640	Winc Unpolished Wooden Ruler 30cm - Measurement in CM and MM	1	\$0.57	\$0.57

# Canterbury College, Waterford, QLD 182 Old Logan Village Rd, Waterford, 4133

# 2022 Requirements List for Prep Your Access Key: 2YU3T



CODE	DESCRIPTION	QTY	PRICE	TOTAL	
			Total: \$186.89		